TN 6 AR = OB F MKV B E R R

D4 SHAEG AR—Y Of SN (50m) 1/3
HIH @ 20244E7TH6H (1) ~7TH7H (H)
No. 11 BBF 50m Fik&E e KR 2157
B K £ & FE K& iclE
1 BH X AR x4 15/ 4 29. 84 8% ( 0.67)
2 Rl RR BTN =) 14/ 4 30.03 9% ( 0.59)
3 FHH IR FEIRI=IN K1 14/ 5 30.22 9% ( 0.67)
4 BH HZE JES 4= =3 13/ 4 30. 49 9%k ( 0.62)
5 BH  KFH HE 52 14/ 6 30. 64 9% (0.61)
6 BIFT MK H7YEeESS m=l 13/ 5 30. 71 9%k ( 0.61)
T =K FHER eIy NINfiE =3 15/ 6 30.79 9% ( 0.68)
8 JRlE —K FV T =3 13/ 6 31.73 8t ( 0.69)
8 A Wl +k= —f% 15/ 3 31.73 % (0.79)
10 K HiF S CHx 13 15/ 1 31.87 8f%k  (0.73)
11 1ol #ExR IWHHS C —f% 13/ 3 31.88 % (0.70)
12 JEAK KA HT72ASS =3 15/ 2 31.90 8% ( 0.63)
13 /NEF JE | HEhv7SC =2 15/ 7 32.20 8f% ( 0.64)
4 50 FA T S SHafx 13 13/ 2 32.90 8% ( 0.64)
15 K g ] SSH¥ = 14/ 7 33.08 7#%  ( 0.66)
16 JIIg;  BARG HIT7AHSS 3 14/ 1 33. 21 8% (0.71)
17 KA AT1H k= —i% 14/ 2 33. 51 5%% ( 0.68)
18 FHREG MK bT = r 2 1R 3 13/ 7 34.03 68% ( 0.62)
19 K& PR L KVKI 777 =2 14/ 8 34.42 65% ( 0.73)
20 Z=)1|  §kA] IUHHS C m=il 13/ 1 34.43 65% ( 0.68)
21 NI FRK LS C ] 12/ 2 34.77 S8 ( 0.68)
21 #kH 3 w7V eSS H12 15/ 8 34.717 8% (0.72)
23 FJI BLH IS SR 12 13/ 8 35.27 6% ( 0.75)
24 T JEBDEAEA H7YESS H12 12/ 4 35.29 6% ( 0.71)
25 K2 ) ] SSHa¥ 12 12/ 8 35. 51 7% (0.67)
26 R4 = LS C H13 12/ 3 35.97 65% ( 0.71)
27 A BE 4 TR = 12/ 1 36.10 4#%  ( 0.70)
28 HE s OFBH7=£ D 2 11/ 4 36.12 % (0.74)
29 & G| IWAMS C ] 12/ 7 36. 42 S8t ( 0.65)
30 i E B WIS C 12 11/ 3 36. 61 5%k (0.73)
31 T HEZE PR =2 10/ 5 36. 69 3% (0.70)
32 1 )11BHE =} ZE/SS M1 11/ 5 37. 41 T#%  ( 0.75)
33 FZH MmE %/ SS 12 11/ 2 37.42 6% ( 0.62)
34 HH L S S H12 11/ 6 37.70 4% ( 0.71)
35 Fits {733 HLH A 1 11/ 1 37.88 5#% ( 0.73)
36 f@H iz A h~ U 4E NG 11/ 8 38. 21 8f% ( 0.74)
37 TR HK AR —i% 12/ 6 38. 61 1%  (0.72)
OPN #&A  Fl HBhy7SC K4 14/ 3 31. 71 7#%  ( 0.65)
OPN L {55 R = 11/ 7 37.17 4%%  ( 0.78)
OPN fad: Bt ~N 2RSS =2 12/ 5 37.69 3 (0.72)
OPN FJII  #beg o2F/SS 1 10/ 3 38.37 65% (0.77)
OPN A N IWHAMS C /N6 8/ 3 38.52 8t ( 0.68)
OPN A H  BHilE a% /S S Hi1 8/ 2 38.53 5tk ( 0.77)
OPN ik Jib kv 7FSC H2 10/ 4 38.95 5%% ( 0.65)
OPN [ {EIEIR LS C NG 10/ 1 39.14 7% (0.67)
OPN JIl32 {h1t w7V eSS 1 10/ 8 39.33 65% ( 0.66)
OPN Aiff  KIZ SCHhz 12 9/ 5 39.42 3tk ( 0.65)
OPN M #%F SCHxz ] 10/ 6 39.73 5% ( 0.61)
OPN H= &R J S SHPk NG 9/ 1 39.78 58 (0.79)
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TN 6 AR = OB F MKV B E R R

D4 SHAEG AR—Y Of SN (50m) 2/3
HIH @ 20244E7TH6H (1) ~7TH7H (H)

No.11 BB 50m k= FiE K 27.57
B K £ T & FE K& iclE

OPN {7 K& IS C /N6 9/ 4 40. 30 58 (0.77)
OPN NH &K 2E/SS NG 5/ 5 40. 57 7% (0.70)
OPN @nA VRS YA N NG 7/ 4 40. 60 7#%  ( 0.70)
OPN /N IE—BR FES S /INB 10/ 2 41.05 6% ( 0.67)
OPN Pk HEF ~NZNS S Hi1 9/ 3 41.09 3k (0.71)
OPN Bl iz JSSHTF /NG 10/ 7 41. 32 65% ( 0.61)
OPN [LIA B 7 S Sk 2 9/ 6 41. 85 2% ( 0.81)
OPN I Bt Ay il FEH P H T 1 7/ 5 42.28 4%%  ( 0.68)
OPN BijJIl  KFn TS Sk NG 8/ 8 42.57 5#% ( 0.68)
OPN % Ik 1 15 = 8/ 7 42. 86 ( 0.67)
OPN PeAs AL KL H 1 6/ 4 42. 89 3 (0.71)
OPN 3£ HEL HEFH R /INB 7/ 3 43. 34 5% (0.71)
OPN #f_E i) k7S C 1 9/ 2 43.50 3 (0.79)
OPN #fHi  FniE TS SKABK NS 6/ 6 43. 54 7#%  ( 0.66)
OPN BRIk HI7AHSS /N5 8/ 5 43. 54 % (0.79)
OPN FH HEBE O =N 7/ 7 43. 64 ( 0.69)
OPN 4 HMy7SC H2 7/ 6 44.15 ( 0.75)
OPN FJIl  HEF J S S#Pk /N6 6/ 3 44. 45 2% ( 0.77)
OPN mA Bk AU H NG 7/ 8 44. 69 4%%  ( 0.71)
OPN JII¥& HEIE k7S C /NG 8/ 1 44. 74 6% (0.72)
OPN &l i N 288 S 1 7/ 1 44. 86 2%% (. 0.72)
OPN dbiE R a%/SS ] 5/ 4 45.18 ( 0.70)
OPN JtH  FI%i HEH A4 NG 8/ 6 45. 25 3tk ( 0.66)
OPN VEM fEHE A b= &k /NG 9/ 8 45. 37 6% ( 0.76)
OPN RS+ K#LS C 1 5/ 7 45. 40 1% ( 0.68)
OPN Jinje i MBSH/N =7 NG 9/ 7 45. 48 3% (0.70)
OPN /INAfRATH* HEH A /NG 5/ 3 45. 58 3% ( 0.58)
OPN ~FH  J&ER a%/SS /INB 6/ 1 45. 64 6% ( 0.86)
OPN BLJI|  KiF KfdS C =oh] 6/ 2 45. 72 ( 0.76)
OPN H E  FHFE NZRS'S NG 3/ 5 46. 02 L#%  ( 0.62)
OPN A K& KA S C /NG 5/ 6 46. 08 ik (0.71)
OPN fE O Fnqé N 2RSS NG 3/ 4 46. 84 ( 0.65)
OPN ZhJ] HHH k7S C Ml 6/ 5 47.15 ( 0.72)
OPN (LA 238 J S SHABK /NG 7/ 2 47.22 2%%  ( 0.72)
OPN {5 5 HLFH KL H /N6 5/ 2 47.49 2%% ( 0.66)
OPN JHH  FEST Ky 7SC /N3 2/ 4 47.50 9%k ( 0.67)
OPN FJIl  BEFY 1S Sk /N4 6/ 8 48. 20 65% ( 0.74)
OPN Hkf  H1h Hhy7SC /N4 6/ 7 48. 38 4%%  ( 0.63)
OPN [LEE FEE JSSH¥ NS 5/ 1 48. 47 4%%  ( 0.79)
OPN LA PR ] S SHARK /N4 5/ 8 48. 61 58 (0.79)
OPN Bl iR, B4 /NG 3/ 8 49. 15 1% ( 0.63)
OPN #HF A a%/SS ] 4/ 7 49.15 ( 0.85)
OPN Fpdle ZRE TS SHABK ! 1/ 6 49. 49 5#% ( 0.83)
OPN K HEEY MBS#/~" =) sIN4 3/ 6 49.72 3% ( 0.69)
OPN [#%F i K TS SR NS 4/ 2 50. 39 ( 0.81)
OPN #AK & YA N NG 3/ 7 50. 50 *F:i&h ( 0.65)
OPN /iR &1 S IKVKI 77 /N3 2/ 1 50. 68 4%%  ( 0.57)
OPN EHifg #51 S @R = 1/ 5 50. 77 ( 0.89)
OPN #k B 4SS NS 4/ 6 51.30 2%% ( 0.70)
OPN J{H ) aF/SS ! 3/ 2 51. 84 4%%  ( 0.75)
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TN 6 AR = OB F MKV B E R R

D4 SHAEG AR—Y Of SN (50m) 3/3
HIH @ 20244E7TH6H (1) ~7TH7H (H)

No.11 BB 50m k= FiE K 27.57
B K £ T & FE 7K B iclE

OPN #AE  1BEE OFFH72% 0 /N4 3/ 3 52.26 28%  (0.74)
OPN HMEIE LA ~N2Z/8S'S /N4 1/ 4 52.36 3% ( 0.66)
OPN HH  #5ED KALS C /NG 4/ 3 52.42 28% ( 0.85)
OPN JIl L K#H LS C NG 4/ 5 52.55 ( 0.81)
OPN m/A EE ~NZNS S NG 4/ 4 53.57 ( 0.61)
OPN #F F ARk b= 2 IR /N2 4/ 8 54.22 65% ( 0.60)
OPN H F =3} ~NZRS'S 7N 2/ 6 54.93 2% ( 0.67)
OPN A ¥l SCHzx /NG 2/ 5 54.96 ( 0.74)
OPN H g & KALS C /N4 3/ 1 55.35 ( 0.75)
OPN £ ik OFF572 % v ! 1/ 2 56. 32 % ( 0.84)
OPN HTH &5 AR SFABR ! 2/ 3 56. 53 % (0.77)
OPN fivl  m&=h A4 b~ 40k /NG 1/ 3 57.68 ( 0.83)
OPN BiiHH &5 ] SS@a+ /NG 2/ 7 58.00 ( 0.75)
OPN f&liG #b 2 ~N 288 S NG 2/ 2 58. 42 ( 0.78)
OPN A FHAE KER S S /N2 1/ 7 1:03.43 % (0.72)
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